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There, an ox is slaughtered before you  — 7215% winw 1w an?

OVERVIEW

The X773 offers an explanation as to why >"7 differentiates between the cases
of 17 in the first P79 (where the 137 is ineffective), as opposed to the 12 of
17 77 in this P79 (which is effective). The X3 compares the 131 of WX P79
to a VMY MW and the ¥ of "W PAd to vINw MW PX. There is a dispute
between *"w1 and nN1BOIN as to the interpretation of this answer; based on
their dispute concerning the actual litigation in the case of 17 77w.
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It is explained in '@, that the reason the cases in NWXI P79 are compared
to a VMY MW is, since the husband claims you were forced before I

betrothed you. The husband’s claim against his wife is compared to a V1w W; there
is a need for a response here, just as a LMW MY necessitates a response as to who

slaughtered it.
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However here in the case of 121 17 77w there is no ‘ox slaughtered before

you’; there is no need for a response since the son is not demanding
anything from the buyer.”

mooIn has a different interpretation:
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And the "9 explains that here too; in the case of 12117 77V it is discussing
a case where the son is claiming ownership of the field, as I explained.

mooIn will now clarify what is meant by 01w MW and VMY MW PX:
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And this is the explanation of the X n3; there, in the cases of W& pd,
there is a T29% v "W for she has no 2°»1n2 07 -
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! See, X217 71"7 >"wA, for a more complete rendition of ™" view.

2 If there is a need for a response (0w M), then according to *"1 a (certain type of) 1 is insufficient to
substantiate her claim; however when there is no need for a response (0w MW PR), the 1 is effective.

3 See amm "7 3,70 mdoIn [see ‘Thinking it over’ # 1]. According to n1voIN the meaning of "1 VW MW
cannot be that a response is required; for in all cases a response is required, since it is W2 777,

* The husband is always believed if he claims that his wife has no 2°71n2 a7 (see X,> N1213) [in addition, that
presently she is certainly not a 121n2]. Alternately it is a case where there was no 07 on the (cloth) o°7v.
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And she cannot claim I was a 79102 by the pPRw1; therefore her status is

just as by a v " where no one can say he is alive; similarly she cannot

deny the fact, that she is not a Seoima —
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And therefore whether she claims I was forced after the oYK, or
whether she claims I was struck by wood while I was an 71017X she is not

believed.® However -
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Here in the case of 7 77w there is no T12% wmw =w; we do not know,
independent of the buyer’s admission, that it once belonged to the claimant’s
father,” so therefore the buyer is believed that he purchased it from the
father, since he has a w» for he could have claimed it never belonged to
your father.®

SUMMARY

According to >"wn the difference between vIMw MY and VW MW PR is if
there is a claim or not. According to Mo1n the difference is whether the
counter claim to the wn is (basically) substantiated (as by 2°21n2 nivv) or
whether it remains unsubstantiated (as by 7 770).

THINKING IT OVER

1. According to moown,” is the claim of the son (merely) that it once
belonged to my father; or does he additionally claim that I know he never
sold it to you?

2. Is the vIw MW PR by 17 77w, caused by the weakness of the claim (7 77w
"2R 9W); or by the strength of the 1» (that 02wn Tax Sw anv 89)2'°

> It is not necessary for her to admit that >noaX1 30 KW, in order to establish that she was not a 79102 at the
PR See previous footnote # 4. Therefore it is considered a vITY MW.

% The lack of o202 o7 disqualifies the woman from receiving the full 721n2; unless she can prove that she
was a 17302 (or a Y¥ nam according to »'") at the time of 1°01°X. There is no real W» here; the claim of N>
T°nnn "R vy, cannot effectively challenge the fact the she is not a 77102,

" The claim of the son, does not establish it as fact that it once belonged to his father. Therefore it is
considered as vInw MW 7°X. See ‘Thinking it over’ # 2.

% If the buyer would have claimed w» ax %@ 77 X2 he would certainly be believed, since the son has no
0’7y, that it once belonged to his father; and the buyer is currently occupying the field (albeit without a 7pm
or wY).

? See footnote # 3.

1 See footnote # 7.
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